
105 106 107 108 109

No. of DOF

100

105
[s

]
Time /tot (cw, T-interp)
Time /opt (cw, T-interp)
Time /tot (cw)
Time /opt(cw)

0 1 2 3 4 5
No. of DOF 108

10

20

30

[G
B]

RAM limit

Peak RAM (cw, T-interp)
Peak RAM (cw)

105 106 107 108 109

No. of DOF

100

101

 = 
1

 = 
2

 = 
3

 = 
4

 = 
5

 = 
6

 = 
7  = 

8 = 
9

Tot-time [cw/w]
Opt-time [cw/w]
Opt-time cw [T-interp/noInt]

0 1 2 3 4 5
No. of DOF 108

0.8

1

1.2

1.4

1.6 Peak RAM [cw/w], T-interp
Peak RAM [cw/w]

102 103

[s]

0

10

20

30

[G
B]

ew ed gd
t

op
t

noInt
T-interp

102 103

[s]

0

10

20

30

[G
B]

ew ed gd
t

op
t

noInt
T-interp

(a) (b)

(c) (d)

(e) (f)

Waves only Waves and currents


